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R 1 BRNZTELBIO85YT DENEETIEAD KR, ERHIAE (ke/10a)

X% FER ZYE EHDT-C  EHDT-N
ERNZTF+ 28 595438 261 11.9
AT S4TSR 29 1357404 594 271 :
30 1371254 600 27.4 o
o833 7+ 28 282+57 116 48
AT S4TSR 29 400315 167 6.8
30 706191 291 12.0
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%2 BRAZTEEUIOF5T OHEE LI Co-137 BELTHRIHIEE 1IVTUSATIADER
X% Fx 310 TiEDD BITRE i TiEDTHE
Cs-137 Cs-137 hIEE Cs-137
(Bq ke 'DW) (Bq kg 'DW) (mg 100g'DW) (Bq ke 'DW)
ERNZT+ 28 96 = 39 795 = 377  0.141 = 0.055 180 * 4.7 130 = 49
ABIYT S4TSR 29 21 + 74 661 + 245  0.034 = 0.013 188 + 3.7 86.8 = 52
30 45 =+ 30 595 + 165  0.077 = 0.038 + +
0457+ 28 387 =+ 183 617 = 187  0.621 = 0.159 140 = 1.7 107 = 35
ABYT S4TSR 29 120 =+ 37 622 = 131 0.126 = 0.102 155 + 2.2 835 =+ 24
30 82 + 178 675 + 300  0.165 = 0.041 + +
=3 BRDA2ITUSATSADEYE. Cs-137 BELLURBRMEHIEE
X% ER ARITUSATSR ABITUI4T5A TiEHOD BITRE TiEch TERRHRE
DEME MDCs—-137 Cs-137 hE=e Cs—137
(kg/10a) (Bq kg 'DW) (Bq kg 'DW) (mg 100g"'DW) (Bq kg 'DW)
ERNZT+ 29 461 = 124 71 =+ 21 795 + 377 0.116 = 0.032 17.9 + 3.2 145 + 35
AR T S4TSR 30 441 = 113 42 = 11 640 = 210 0.069 £ 0.025 177 £ 19 748 £ 6.0
oa4a3) 7+ 29 236 £ 71 36 £ 15 617 = 187 0.064 £ 0.036 185 £ 3.7 157 = 106
AR TUoSA4T SR 30 166 = 5.7 42 £ 76 696 = 249 0.066 = 0.021 180 £ 28 86.8 =+ 22
A4 29 80 £ 11 24 £ 30 722 £+ 247 0.037 £ 0.009 21.1 = 3.8 123 = 27
AB) TS S5R 30 14 + 60 60 =+ 26 622 + 177  0.108 = 0.053 204 + 23 85.1 =+ 21
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